a4n3 malnad (Trigonometry)

sin’A + cos*A =1
sec’A —tan*A =1
cosec’A — cot?A =1
sinA.cosecA =1
cosA.secA =1

tanA.cotA =1

sinA

tanA.=
cosA

W A+ B =90", sinA.= cosB

secA.= cosecB

cos2A = 2cos*A -1

=1 —2sin’4
1 tan’A
"1+ tan?A

e sin3A = 3sin A — 4sin3A

cos3A = 4cos® A — 3cosA

3tanA — tan3A

tan3A =
an 1— 3tan?4

co A
HUATUM SlnE =+

tanA.= cotB
NuAnaL sin(—A) = —sinA rant 4 1 - cosA
2 ~./1+ cosA
COS(_A) = cosA - sinA _ 1-cosA
1+cosA = sinA

tan(—A) = —tanA

NauIn — wadnmmagu

sin (A+B) =sin A cos B + cos A sin B
sin (A-B) = sin A cos B - cos A sin B
cos (A+B) = cos A cos B -sin A sin B

cos (A-B) = cos A cos B +sin A sin B

tanA+tanB
tan (A+B) = ——
1-tanA tanB
tanA—tanB
tan (A-B) =—/—
1+tanA tanB
; . . 2tan
yuaoum  Sin2A = 28inAcosA =—————
N 1+tan<A

cos2A = cos?A — sin*A

Nﬂ@m—) HAaLUIN

2sinAcosB = sin(A + B) + sin(A — B)
2cosAsin B = sin(A + B) — sin(A — B)
2cosAcosB = cos(A + B) + cos(A — B)

2sinAsinB = cos(A — B) — cos(A + B)
NALINHRATY

(4+B) ~(A-B)

sinA + sinB = 2sin co
2 2

(A+B) . (A—B)
7 Sin—

sinA — sinB = 2cos

(A+B) (A-B)
2 cos 2

cosA + cosB = 2cos

(A+B) . (A-B)

coSA — cosB = —2sin sin
My s,




ARSH5LNOU(AD)

NAANNNAIEDY
sin(A + B)sin(A — B) = sin*A — sin’B
cos(4 + B)cos(A — B) = cos?A — sin’B

ABNGANTRFIFAUDINIATU

y = asin® + b cosd 7 ++ a? + b?

vananss 1a9 Arc

arcsin x + arccos x =

arctan x + arccot x =

N[ NS

w
arccosec x + arcsec x = E

x+y
a b c arctax x + arctan 'y = arctan( 1—x )
ngaaslai — = — = — Y
sinA sinB sinC
. arcsin x = arccos v 1 — x?
nyuaslaldy
arccos x = arcsin+ 1 — x?2
a? = b%? 4+ ¢? — 2bc cosA
X
b2 = a? + % — 2ac cosB 2arctan x = arctan(1 — xz)
c¢? = b%? + a® — 2ab cosC arcsin (sinx) = x
ngaaslisiandu sin(arcsinx) = x
a = bcosC + c cosB arccos (cosx) = x
b = acosC + c cosA cos(arccos x) = x
c=acosB + b cosA arctan (tanx) = x
& o4 - tan(arctan x) = x
NUNFINLUREAN
X X X Function Tauu 1519
AABC = EabsinC = EbcsinA = EacsinB Y =aresin x -1,1] (— n ,E]
2°2
W A+B+C=180" Y =arccos x [-1,1] [0,77]
1
A B C Y =arctan x R -
sinA + sinB + sinC = 4cos - coS < coOs = p 2 2 T
2 2 2 Y=arccosec x | (-00,-1]\U][1,00) [—=,0)u(0 7]
A B C 2 T 2
V(3 )
cosA + cosB + cosC =1 + 4sinEsinEsinE Y =arcsec x (-00,-1]\U[1,00) [0,5) U(E y 7
Y =arccot x R (0,70)
tanA + tanB + tanC = tanA tanB tanC
- V5-1 ] ~ VJ10+2v5 ]
sin18 = =C0S 72 , Ssin72 = T = Cos 18
- V5+1 ] - VJ10-2v5 ]
sin54 = = CO0S 36 , 8in36 =—— =¢o0s 54
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' A
Naugn_waﬂ’]QmaQHN 22. tan_ :llllll..Illllll..Illllll..lllllll.....
2
1.sin (A+B) = ceeenvniiiiiiiiiiiiienenene, 23. 2SINACOSB =..oooeeeeeeeeeeeeee
2.0 (A-B) = 1oveorerenreereesennessaesanens 24. 2C0SASIN B =
25. 2COSACOSB=...uooeeeeeeeeeeeeeeane
3.0S (ATB) = tevreiiiiiiiieiiiieeeennenens
26. 2SINASINB =.......cccoeeeeen.....
4,08 (A-B) = ceivrriiiiiiieiiiieeieinnnneees
27.8inA +sinB = ..o
5420 (A+B) =uiriiiiiiiiierneeersescnccscsscasens . .

( ) 28.SinA —SinB =.......oeeeeeeeuenn.
6.tan (A-B)=....cconvrriniiiiiiiiiinn 29.c0SA+COSB =......ooooeeeeeen,
TSIZA = covvereenessessssessnsssssesansesnans . 30.€0SA — COSB =i
I 1 1 V7. N T
9. COSZ2A = .o
10. COSZ2A =
11.COS2A = .o
12.80M 3 A = o oot oo e e e e e e aee e
13. COSBA et eeee e
14.TAMN3A = e e e e e e e e
19, Coot BAT..iiirrreiieeeereseesessssecsossscssscnssnns
20, STT = et e e aaaaas

2
21, COS = o ettt reereaeea
2
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1. Sin(A+ B)Sin(A — B) =.vereveerereereens
2. CO0S(A+ B)COS(A — B) =ueeeereveerrnrerrereens

ANFANTRFIFAURINIATY
3.y = asinf + b cosO 78 i
4, ﬂ{\]?li’]\‘]vlﬁﬁ ------------ [l YT XYY (XX R YN YT Y YN Y Y oe

5.ngaaslaldbi

o TR

D2 =

C2 oo e

Vigw A+B+C=180"

12. arctan x + arccot x = —

17. arccosec x + arcsec x = —

18. arctax x + arctan y = arctan(

19. arcsin x = arccos .........u.....

20. arccos x = arcsin ... ... ... ... ... ....

21.

22. arcsin (sinx) =

23. sin(arcsin x) =

24. arccos (cosx) =

25. cos(arccos x) =
26. arctan (tanx) =

27. tan(arctan x) =

2arctan x = arctan(... ... ... ... ... ...

8.SINA + SINB 4 SiNC =.........oveeeeeeeeeeeeeeeeeeennn,

Function Tauau

d
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9.COSA + COSB + COSC =.......ooaeeeeeeeeeeeeeeeen,

28. Y =arcsin x

29.Y =arccos x

1w.tand+tanB +tanC =...............oeeeeeeeeeeeeann.

30.Y =arctan x

rananeol aa9 Arc

31.Y=arccosec x

11. arcsin x + arccos x = —

B2.Y =arcsec x

33.Y =arccot x




